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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- It’s an --—-eee- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

2-  Mr. Baker has decided to move to a big city because of a ----cmeeee- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth

3- Do you know of an alternate route we could take to -- --- having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —----------
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an - ---- pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to -——-eeeeeee its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

|) repudiate 2) enhance 3) distribute 4) replicate

7- 1 would like to compliment Jaden for the course of action he recommended because |
think it will —--—---- --- our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

8- AN —eeemeemeea- is often expressed as a simile, as in “The football game was like a battle

between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena
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9-  There are many good reasons for not smoking, but those having to do with health are
the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
-—-- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

10-

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemmemme- the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two general categories of planning: rational and interactive. Rational planning
is a linear process, with each segment of planning following from the preceding one.
This type of planning emphasizes set actions toward predetermined goals. Rational
planning has definite sequential steps through which the organization should go in
developing a plan. This category of planning is thought of as using top-down
methodology and decision making. such as in the hierarchical structure of the public
schools. It relies heavily upon hard data and quantification methodology. Many of the
problems associated with school facilities such as space allocation. physical plant
construction. _student _projections, transportation assessment, _and cost _analysis are
amenable to the use of a rational planning methodology.
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Interactive planning seems to be the opposite of rational planning in that it lends
itself best to problems that do not need a high degree of objectivity. Instead. it relies on
data derived through ethnographic investigation. Interactive planning is done through
decentralized. small. face-to-face groups. and it is a team effort. as contrasted to the
centralized planning groups used in rational planning. Goals in interactive planning
models are not permanent, but suggest directions to be discussed. The methodology
used in interactive planning is suited to comprehensive and educational policy
planning, most institutional planning, curriculum planning. and even resource
planning, because of the fluid nature of the school organization.

What is the author's main purpose in the passage?

1) To contrast two methodological approaches

2) To compare two categories of planning in terms of goal efforts

3) To inform the reader about the use of top-down methodologies in public schools
4) To explain why rational and interactive planning work best in educational settings
It is stated in the passage that rational planning -—--—---eeeees,

1) should proceed through consecutive stages

2) is mostly applied in the school organization

3) should focus on the process of realizing a problem

4) depends on the involvement of all members of the school staff

The word "one" in paragraph 1 refers to --=--=mmemee-v 5

1) type 2) process

3) segment 4) rational planning

Which of the following best describes the function of the underlined sentence in
paragraph 1?

1) It elaborates on a claim made in the previous sentence.

2) It demonstrates where a specific model can be implemented.

3) It makes a list of the factors which contribute to a planning process.

4) It provides examples of problems that require planning so as to be solved.
Which of the following can be inferred about interactive planning from the passage?
1) Only school administrators take part in it.

2) It can be integrated with rational planning.

3) Qualitative data can play a central role in it.

4) It does not depend on the use of soft data at all.

PASSAGE 2:

The deschooling 'movement’ clustered around the works of Goodman (1960, 1964),
Illich (1970, 1971) and Reimer (1971) and flourished in the late 1960s and early
1970s. Although the members of the 'movement' diverged in their attitudes to
contemporary schooling they were united in the belief that the present schooling
system has to be removed and replaced by something else. in their dislike of our
present-day society with its class-riven nature and reliance upon industrialization, and
in a Romantic optimism concerning human nature and the possibility of societal
progress. They were also equally in debt to the educational ideals of Rousseau.
Goodman believed that our schooling was failing both in its own terms and in terms
of proper education, which should be concerned with truth, beauty, learning and
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culture. He also believed that schools. both because of their institutional nature and the
teaching processes they adopted. for example instruction rather than discovery
learning. suppressed individuality in their successful attempt to socialize to national
norms and regiment to national needs. We should replace contemporary schooling
with mini schools for children up to the age of 12, where about twenty-eight children
are taught — if this is the right word — by four adults and the curriculum is derived
from the children's actual interests. Thereafter, formal schooling should be replaced by
an apprenticeship system which would cover everything from car mechanics to
philosophy.

What does the passage mainly discuss?

1) The benefits of deschooling

2) A movement for educational reform

3) How deschoolers achieved their ends

4) A movement against educational inequality

Why does the author mention contemporary schooling in paragraph 1?

1) To describe the features of the present schooling system

2) To indicate that industrialization led to divisions in society

3) To show that deschoolers were not united in all their beliefs

4) To suggest that deschoolers were not sure about the effects of deschooling

Which of the following best describes the organization of paragraph 2?7

1) The development of one theory into another is outlined.

2) Reasons for the inefficiency of certain schooling systems are given.

3) Conventional schooling is criticized and then an alternative form of schooling is
proposed.

4) A deschooler's failure to provide proper education is discussed and then some solutions
are offered.

The word "suppressed" in paragraph 2 could best be replaced by -——--=m-mmmmev .

1) lost 2) retained

3) expressed 4) impeded

According to the passage, in the mini schools ——--------—- A

1) prescriptive methods of teaching are adopted

2) children are motivated to acquire new skills

3) practical subjects are given priority

4) children's interests are not ignored

PASSAGE 3:

The idea that children should be selected for different kinds of education can be found
in Plato's Republic. Plato believed that children should be selected for their
intelligence and this view has persisted in some countries up to the present. There are
obvious difficulties in selecting for intelligence, not least the difficulties involved in
saying what it is or in assessing it accurately. If children are selected for the best
education because of their high intelligence then one may wonder what kind of
education is appropriate for those who do not possess it. Plato's answer was to provide
vocational education for those less well endowed. Modern selectors have often
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advocated the same kind of education as that provided for the highly intelligent. but of
an inferior kind.

Another approach is to select according to ability. The idea is that different children
have different potentials and that, at an appropriate age. they should be selected for the
type of school that is most likely to fulfill their potential. This approach avoids the
need to define and to test intelligence and leads to the need to carefully devise ways of
exploring the developing interests and abilities of a child. Arguably, the German
secondary system is of this type, while the UK system up until the 1960s was of the
former kind. Selection will always arouse strong opposition so long as it is thought to
be inequitable, and therefore must be fair if it is to command confidence.

Which of the following best describes the overall organization of the passage?

| ) The author defines a concept by analyzing its two forms.

2) The author evaluates the merits of a particular theory in light of new evidence.

3) The author describes the main procedures for selecting students for intelligence.

4) The author introduces a point of view and then describes ways of putting it into

practice.
The word "persisted” in paragraph 1 is closest in meaning to —————--,
1) lasted 2) declined
3) browsed 4) appeared

The "modern selectors' are mentioned in paragraph 1 as --——------nenev,

1) opponents of poor education

2) advocates of vocational education for highly intelligent students

3) people who believe less intelligent students must be offered a lower-quality education

4) educationalists who think that vocational education is as important as other types of
education

It is stated in the passage that the German secondary system -—--------—-— i

1) classifies students by a specific criterion

2) carefully manages students at all stages of education

3) looks like the UK system before the 1960s in every aspect

4) tailors educational programs to every individual tutor's needs

There is sufficient information in the passage to answer which of the following questions?

1) Why was Plato's Republic published?

2) Why will many people disagree with selection?

3) How can the developing interests of students be explored?

4) How will schools be able to ensure equitable treatment of students?
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